Step by Step Sanskrit Learning Programme — Month 14

Lesson 55. Continuing with the Shatr.

Present Continuous Participles.

A quick note:
I have to apologise for my long silence. One and a half years of not giving you
something new to study is criminal on my part. But my excuse is valid. We

have finally finished designing our 3, 6-month courses..3TEAT, AT and

YU and now am absolutely free to work on our web lessons. But since

students have not written to me asking for help with their lessons, I assume,
no one's missing me oo much and therefore I don't feel guilty!

It is amazing indeed how language adapts itself to the changing times.
Classical Sanskrit did not feel the need to express the continuous tense as

something different. "The boy goes.... A3 T=Sid represented both, the

present tense and the continuous.

Then other languages made their presence felt. Sanskrit now had to figure
out how to differentiate, for the people who questioned, between

1) The boy goes and 2) The going boy.

1) Is what you are already familiar with... the use of the @& @& The

sentence would therefore be... dl%h: =S |

2) This sentence would need to be translated with the help of a continuous
participle. You need to use the continuous participle in sentences like ..." The
walking girl is looking at the eating boy.'

So what are these continuous participles?
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They are words formed out of ¥d s. Retaining their ability to convey an
action taking place, they become adjectives and follow the noun in three

ways: l%ﬂﬁ’ , feRTied and 91 |

Let me give you simple examples and then I'll teach you how to form these
words.

The boy studies.

The boy eats a mango.

The studying boy, eats a mango.

The "studlying' is the continuous participle. If the root word is qlﬁ“maq ,
you add the R[q HcAA and create a JNJ form. If the root word is WFHENQH
, you add the MY YT and create a MM form.

Let's concentrate on the J forms first.

Step 1. (M/ N forms)
Pick the @& SR YH J&Y form of the P.P. dhaatu you have chosen.

Let's take 98 _as an example. 81d is the B HHN FIH F&F Tga<- form.

Step 2. (M/ N forms)
NOW... remove the  from the end and the d_from the middle of the word

Yofed - - 7 = 95d
Step 3. (M/ N forms)
THEN add a ._ to the last letter to form d&I~d M/N forms that are

declined as ¥ Tdd_ M and as SHTd_ N. (Please check Supplement 36. Month
10)
98d +. =9&d M /N
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There is a small difference here. The AT fa¥Tied Teha=e form of FETA

is ¥ . Don't add the 3M®RNId to the word. The usable form becomes
9 and not 9aIq_ |

So now we have a sentence that says dl%5<h: 9o« | This is not a complete

sentence because the word &< is not accepted as a verb but as a

participle...a verb cum adjective. To complete the picture you have to add
Step 4.

Step 4.
Add the appropriate form of the 319 dhaatu in the tense that you wish to

convey. That is : Add the 3TH &€ %N to give you an effect of a continuous

action taking place in the past.

TS G& T |

Add the 3T && &4 fo give you an effect of a continuous action taking
place in the present. ddh: G A |

Ditto for the future. S Toe_ HITSIM |
( Note: Classical Sanskrit prefers to use the ACTUAL verb forms here
qSH: IS, T5H: I5id , TIHH: J6Sd | And would use the

continuous participle purely as adjectives. So that would mean that another
action would be required here to complete the picture...

RET QELSE S @Ed | The studying/reading boy is eating.

q&+]_ qTH: TH WG | The studying/reading boy is eating a mango.
Step 5.

Use all the vibhaktis now....
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qe i5H: @R |
IE YSd IISH IATH |

38 9od Qllc’zél\u--l 9g qI&3NSi IS | and so on and so forth.

To form Feminine words:
Step 1.
Same as in M and N

Step 2.

1. DO NOT remove the s from the middle of the word ( from 1, 4, 6, 10
dhaatus. If the dhaatus are from the other 31T s, THEN alone does
one remove the FI_from the middle of the word. .... Easy Way, if
there is an 3 T before the fd 98 (9. 9. Q. d.), thend, stays ,

otherwise, the «_does not. This holds true in most cases and can be

used as an 'emergency technique.' )

2. Convert the Zintoand
qai~d (after having looked at qafd )- 3 + g = o=l F that is declined as
Adt 1 (1PP)
Fdied (after having looked at &) - - + 3 = AW F that is declined
as ST | (8 PP.)

Step 3.

Add the appropriate form of the 319 dhaatu in the tense that you wish to

convey .... ( Please re- read Step 4 ..M and N forms)
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* XX

Now let's look at a few examples:
1. §: 95 3T | He is reading.

2. §: U ST | He was reading.
3. @1 Y&l 3TRA | She is reading.

4, @1 9l BTR:ﬁ?L | She was reading.

5. HH e o STRd | My friend is reading.
6. & l%ﬂﬁ\@lﬁ:q | T am writing. M

7. 9 @l IRA | T am writing. F

8. @ Y&/ Ua~dl ™ | You are reading.

This is the simplest form of a sentence that you can create with these
forms. Now let's look at how they are actually used. (Step four and five have
already highlighted this.)

These words are participles. Participles= Adjectives. They MUST MUST
MUST match the noun/pronoun in three ways: fo5g , ol and T |

(No, I'm not senile. I know I'm repeating myself but I'll do so till you never
ever forget those instructions. So you better be patient with me... I can be
as stubborn as a mule in some matters. Look out for similar repetitions in the
next few lessons.)

Since I can form the entire AT table with these words, how will I use

the rest of the ¥ s ? Place Supplement 39 before you while you study

the rest of the lesson.

Watch carefully now:
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1. T3 q%®: ®S WG | The going boy is eating a fruit.

2. 3=l dAN5H FS WG | The going girl is eating a fruit.

3. The talking girl is watching the eating boy. de=dl JATfAH Wged AT
EERI

4. The girl who is going with the boy who is going. is also eating a fruit
( Yipes!) T3l AT TE ITeSedl TRl AT & (|

5. Give the studying boy milk. 9&d ATHEE g T3 |

And T could have gone on giving you examples but it is time now that you do
the work and I rest.

Do have a look at Supplement 39. to give you the Present Continuous forms

of the dhaatu ™. And to form the A9 forms, check Supplement 36. the

feminine forms go like Fl?ﬂ so that should not cause a problem.

XXX
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Lesson 55A. Exercises with the *[d Ycd4.

Translate the following sentences.
1. The woman is washing clothes.

The two boys are playing in the field .

The two girls are eating fruits.

The mother who is reading is also listening to songs .

The man who is going is holding his son's hand.

The lions who are growling slowly are watching the deer who are

running fowards the lake.

7. The father is telling a story to his daughter who is listening with
attention.

8. Radha was drinking milk when her friend was entering her house.

9. Mohan, who is walking with Shyam who was talking, is looking at the
scene around them.

10. The girls who are studying will be successful in the examination.

ook W
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Lesson 55 B. Answers to Lesson 55 A.

1. The woman is washing clothes.
HTEeT FESAT TSN |
AT TEAT Feliededl 3T |
2. The two boys are playing in the field .
ToRI B Hied: |
N AN

qSHI O Fieedl & |

3. The two girls are eating fruits.
sk FATe @IEd: |

qT5H KA WiEedl &d: |

4. The mother who is reading is also listening to songs .
U&edl ST I <A FOnta |
TSecll ST AT Y Fuaied AR |

5. The man who is going is holding his son's hand.
=5 J69: I 86d ad |
=5 J6N: 3T g6d b Sied |

6. The lions who are growling slowly are watching the deer who are

running tfowards the lake.
A

e+ TTSied: [RAET: TENT Ufd Had: P J2died |

N\

el TToled: HET: ANt T aTad: T T7aed: dfed |
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7. The father is telling a story to his daughter who is listening with
attention.

e ST YAl T FAT B |

e STEaTee Jueaecy ToU Yl HYEe AR |

8. Radha was drinking milk when her friend was entering her house.
T ol AT TST aedT: @ aedT: T Tz, |
T et el ST €T aeaT: Sl aed: I8 faRiedl ST, |

9. Mohan, who is walking with Shyam who is talking, is looking at the
scene around them.

TG T HE TS e i i gad o |
TG T T T JigA: df ST ed A S |

10. The girls who are studying will be successful in the examination.
U&ecd: TfcsshT: FUETETH, Scciun Wiasafed |
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Lesson 56. A.P. Continues with the Shaanach.

AT

A.P. dhaatus need the [T YUY to indicate the continuous tense. You have
to add the HIH to the A.P. root dhaatu..... which will be declined like {H,

HIAT and 9 for the M, F and N respectively. Then the 319 dhaatu in the

appropriate tense is added to the sentence if required. Let's take the

dhaatu 9T ( to beg ) as an example.

He is begging. |: AT IR / &: I/ |

She is begging. AT ATAET {Rd / AT qrd |

Tt is begging. Ad ATAHI TR / HT'L?:IW%\T I

He was begging. € IT<HT: A/ §: 3= |

She was begging. AT AT I/ |1 ST |

It was begging. aaqmamﬁa / A S |

I see the man who is begging. 318 AEHH J&8 TFATH |

T see the woman who is begging. 318 ATAHHI Hiedl TZATH |

The kind man gives the boy who is begging, a fruit. g1 J&H: JTEHTA

™ TS TBId |
The man who is begging goes with the woman who is begging, to the river.
A J69: AT ATl 68 Al Tsid |

You will probably just have to go through our previous lessons just fo revise
which dhaatus are the P.P. and which the A.P. ones.
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Shall we work on a few translations? Over to Lesson 56 A.
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Lesson 56 A. Working with the M9 49 |
Note : Be sure to add the HIF / HIl to the conjugated form of the verb

after you have removed the Gl

Translate:

1. He is feeling/becoming happy. 4% (Wied )

2. You were present yesterday for the president's speech. ﬁ{(ﬁﬂ%\r )

3. The man performing the yajna is my father. 3] (?JH%\I)

4. Vikramaditya is the king's name who is waging a war. g‘{(g‘aﬁ )

5. Do not be angry with the two girls who are serving. ﬁq(ﬁa%r )

6. The child ( 39cq N ) went to the temple with the women who were

praying. aa(aa?r )
7. I see the children who are happy. 3%, (q\ﬁ% )

8. The princess accepted the flowers from the priest who was
worshipping. ‘-'I\_rl\(i-'l?l'?\[)
9. T have faith in the people who are tolerant. 98 (Fli_;f )

10. The police are beating the thieving men with a stick. g (*;l'\RTI%I)
( Trip up alert.)
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Lesson 56 B. Answers to Lesson 56 A.

1. He is feeling/becoming happy. Ha_ (fﬁa%'\[)
N
q: Aigd |
H: AIGAE: 3T |
2. You were present yesterday for the president's speech. T%E\(T%@%l )
& IETHEH ¥NOIE o SAia: |

T SR ¥ & A [/ M STl |

3. The man performing the yajna is my father. 9] (W%I)
I GE: 7N fUar oRd |
4. Vikramaditya is the king's name who is waging a war. ﬁq\(ﬁ‘ﬁlﬁ )

FAHEE 96T A [T : STd |

5. Do not be angry with the two girls who are serving. ﬁq(ﬁaﬁ )
HqUERG! aTfwRng 71 g |

6. The child went to the temple with the women who were praying. dg_
()
Y FrEHMIN: AR §E Aleqtd T |

7. I see the children who are happy. Hg&_ (‘:‘l\'la;c\l )
I HIGHT AT Tz |

8. The princess accepted the flowers from the priest who was
worshipping. ‘-'IGI\(‘-'I?T%[)
TSTRGART +ToTeT JUTReTe Jaion SFerd, |
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9. I have faith in the people who are tolerant. 98 (H'&'_?T )
HEHNY Y AH f&zan: i |

10. The police are beating the thieving men with a stick. L (*;l'\ll'q%\f)
RLETHRT: TEHT_ GOSN que dredied |

ha¥ o
IR I JEN U dreded: gfed |
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Lesson 57/ 57 A.
More of Shatr and Shaanach.

Tq - A,
A quick recap:
Having given you an idea on how the 2[qd - A work, I must tell you
something. Classical authors DO NOT use the R[q - AT with the 3TH_

dhaatu. As far as they are concerned, the *[qd - M9 are adjectives and
must be used as such.

The boy is going' is translated as dl&h: TT=3Id. The need to do a AT&:

Wallﬁ_d is to help co-relate this with English grammar.
Let's look at how the RTq - I are used "classically.’
ISHh: T3 |

T3 a5 FS @Eld |

38 TTeoed ATk TRATH |

N o o o
ISl dlAhd Ha, dlldehl Y IT=d[d |

‘\ 3
T=3d dSHE 3 qqld |

TeSd: TSR gEah S |

TT=ad: ToHEd Tedld_ T Gdid |
T=Sid aIo® HH faEam: o |

JIS®: ¥ield |

(3 Y aN
FISTHTA: dlheh: T hld |
TS ToE I AHI |
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VST S T8 T, AT SO wUH |

VSTHH TR F 2TH |

VTSI, TSI SO ¥ |

VSTHTE TTReT aF BE: 1 |

~ N o o
FSHIA dlheh Y %T'?{: SIS

%k Kk Kk Xk kkkk
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57 A
You have been with me for quite sometime now. I must stop ‘spoon-feeding'
you. I'll provide you with answers only if I think you'll need that kind of
assurance.
As worksheets, convert the above given sentences into their dual and plural

forms. AND THEN convert all the above sentences into the neuter (T9cd
child.) and the feminine ( STic5e girl)... yup, singular, dual and plural.

Use TT=3lwd / ¥ISHTET ( 9T [+ ) for the feminine and TT=&d./ ¥ISHTH
(ST f¥TT ) for the neuter.

You will need only the complete [SRTi table for the neuter.. ST |

Check out our supplements in Month 14,
Next week's lesson is a complete mind bender. I'm looking forward to
teaching it.

X kkkkkkkk
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Lesson 58.
Shatr and Shaanach, their passive forms.
I hope you have had a chance to do those exercises that I set you in Lesson
57 57A. It should give you sufficient practice to handle today's lesson.
Do you remember how the passive forms of a verb are formed? Let's do a

quick revision. (For such practice sessions I shall always take the ¥IH J&Y:

ThddTH BRI as an example. That is what has been practiced from

time immemorial. Use that form as a guide line to arrive at the other
AN s.)

1. Take the root form of the verb. For example: 3T / &¥
2. Add to it a T ; that would make it T+ / &%

3. Add the STCHAYE- 999 and you finally land up with TTFId / &% |

4. These are passive forms of the verb. They change only according to

the 3%9: and 994H of the "object turned subject."

Well, exactly the same thing happens when you make a passive form of the
R(J - AEH_ | Let's do it again point wise. The difference is in point 4.

1. Take the root form of the verb. For example: 3T / &¥

2. Add to it a ¥ ; that would make it T+ / &Y

3. Add the 3TcHYE- 994 and you finally land up with JTFIHTA / S¥IHE

4. These are participles and follow the noun/pronoun in three ways: 5,
T4, f | Therefore you will have: TFIHTH | STHIHT:, TREHTT

and all the other forms in all the TR s,
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5. Study the examples that follow and then you will understand what the
words mean:

Hiqd dl3h: = the boy who is eating
AT dlheh: = the boy who is being eaten ( by something)
Similarly 5@ will be talking about the "boy who is writing." and the
&I will qualify "whatever the boy is writing."
o5 AT [HETHTH 916 IcdifomET: SAR SErd |
The boy who is writing, places the lesson which is being written ( by
him or by whoever) on the table.

Trust this example will iron out all the wrinkles that have dared to come on

your forehead.
Back to further explanations:

Verbs that you create with |A . are used in the FHTOT T T

A Te: T&Id | ( Please refer to our lessons on the passive
construction in case you have forgotten how I've arrived at this.)

Words that we create with [B.| are purely adjectives.

Remember:
( It doesn't matter if you think I'm repeating myself. I'll repeat myself till
I'm hoarse....)
ALL PARTICIPLES ARE ADJECTIVES and follow the noun/pronoun in three

ways: f5g , @91, TR |

Now let's look at how the \E‘ words are used:
The boy is eating a fruit.

qSH: FS @ |

The fruit is in the boy's hand.

R THHET TE AR |

The fruit which is being eaten ( by the boy) falls from the boy's hand.
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( AT W TS ASHET T Idrd |
Do you see how I've used the passive form but ina FAR-ATHI-TIAT ?

Let's look at another example: ( Look out for how I've changed the
participle in the different tenses and moods. Also pay attention o the fact
that those words marked bold are the object forms and therefore are in the

feian fRTf: | Let go of the idea at this point in time that the passive

voice insists that the object must be picked from the S=-IHI feTfed: | When

Passive Participles are used in Active constructions, they are purely
adjectives and must be chosen from the fT:  that the sentence
demands.)

The poem which is being read by me is on the table. ( use of passive 2Uq )
AT GEIHTT i Icdifehran: IIR A |

Please place this poem which is being read by me on the table.

FHAT HAT TSTHFI Fiddi IcdISHET: ITR T1T9g |

The food which has been made is tasty. (use of passive %d )

il Vi QIR e |

Please accept the tasty food which has been made by me. (use of passive
4d )

AT ik BHCH ¥ISH HI Tg |

The modak which should be eaten by her is still on the plate. (use of passive
Iq| eI )

o @ [ Wieded: [ Tiei: Higsh: ST 1Y T IIR Id |

Give that modak which should be eaten to the boy waiting outside the
house.

. ¢ N 'y o o haN
o weF g IETd e : fereed aTewE 3a1g |
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What is most important is to set your mind free..... spend a little time with
these words and you will see how very flexible they are. Don't feel so bound
to grammar rules that you are unable to bring creativity into your thoughts.

Let's try out a few worksheets to help break freel
XXk kkkkkkkkkkkx
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Lesson 58 A.
Exercises with the Passive and Active Participles.

A) Translate:
Please do not try word for word translations. Try get the general meaning of
the sentences though.

1.

o

& N

9.

The Guru who is being served is Shrimat Sadyojat Shankarashrama.
( use plural for respect.)

To that Guru worthy of being served, salutations.

When you come to my house, bring that book written by Rabindranath
Tagore, with you.

Is there some milk to give to this cat which is sitting here?

Those memorised shlokas have increased my peace of mind. ( not
difficult.....think!!ll)

Devi Bhuvaneshwari, these flowers which have been brought by me
must be accepted by you.

I place the fruit of the japa done by me at the feet of the Lord.
There is the capacity to work in the intelligent boys who are present
here.

The monkeys who took Lanka were Rama's devotees.

10. With these lessons that have been studied by me, I'll certainly

become Panini |

11. Here is water for those flowers you brought. ( franslate with...accept

this water...)
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Lesson 58 B.
Exercises with the Passive and Active Participles.
1. The Guru who is being served is Shrimat Sadyojat Shankarashrama.
( use plural for respect.)

> ~ ~
HEIHMT: TG AHE - UG- 2AGUSHT: Fied |

2. To that Guru worthy of being served, salutations.
T HEFAR: T |

3. When you come to my house, bring that book written by Rabindranath
Tagore, with you.
TGT VG / VAT T TEH_ SINTESH |, AT UelegaTd-SRIRGT fosfd

gEdh ¥l / ¥iadl J AEag |
4. Is there some milk to give to this cat which is sitting here?
Tl I SUfIEI AN aTg R gram st fRe 2
5. Those memorised shlokas have increased my peace of mind.
N

q: T 2R A HARNea: @dd |
6. Devi Bhuvaneshwari, these flowers which have been brought by me
must be accepted.

7. I place the fruit of the japa done by me at the feet of the Lord.
A1 FHAET T T JaEd TGdl: T |

8. There is the capacity to work in the intelligent boys who are present
here.

ce Hm%ﬁ N C_ N N o l
9. The monkeys who took Lanka were Rama's devotees.
&g TEIdard: HUG: THED ¥l |

10. With these lessons that have been studied by me, I'll certainly
become Panini himself |

haNY o\ N\ o ha . (aNlaX L
:qléd: qié: [ g YIuT[: ¥diH |
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11. Here is water for those flowers you brought.

VT [ FEdT B A : I S Ty |
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